H R&t
47 | ABkEEFEHEI—=L K[ 400m MR R 647
& 4 0 OmH MR JREE 447
BEE s —=/\LK | 400m MR R 247
& 1500m i E¥ 5%
4 0 OmH HF BB 147
— BBk R ek 51
AR A K A 8/
0 KA 4T 14
R0 & i HEfE 5fr
0 BA HA 7L
5H | &)IRREE LBitoEFHERS | 40 0mH MR B 447
A A P K & 64
R0 KA 4T 54
0 i HEAME T
6 H BN BFrT7>7 8{ir
400m MR B 147
80 0m ik Y TAL
4 0 OmH R BB 147
e L2 K & 74
B R0 $ KM RER 7
L 0 KA 4T 34%
UBESEEREN 400m IR R 741
" 40 0mH MR B 14z
”ﬂ VES KOS AT %
” TH |1 EE)EG GRS 800m ik E¥ 6{%
4 0 O0mH I BB 247
a0 aSlUE 3 KA 4T 514%
8 H | &EHE 4 0 0mH HR BB 5
ERRERES HHEB1 O Om MR W 247
HHEA4 0 Om MR BREE 27
DAY B I AR 64
DAESES D B KA 4T 34%
EER RS 30 OmH R BB 8(r
VU @ TR U3 KA 4T 5
9H | B AR= Now—F PUeE & 67
0 #E AR 247
0 KA 4T 147
55 2 A1) et Ri s 4 0 0mH R B 247
A% P A4 POEr sE 7L
RN — PUe 8 617
A e Bk KL E£P 74L
IESPE NN 0 M AR Y
0 KA 4T 6141
10 H | @iarife B FHERS | 100m mAa RER 21%
100m MR B 34
200m mAa FER 44




[ERAFERE

Hp> o

JURE BB — =73V R

200m

4 0 OmH

— Bk

AR A P
BN~ — B
BN~ —
4X100mVUL—

100m

200m

400m

A = Bk
N~ —
RN~ —
R
R &
4X100mYL—

4 0 OmH
4X100mVUL— (JLiEk)
40 0m
4 0 OmH

Y&

MR e
HUR R
0
PUeE 8
PUE S
HH BEA
R - S AR
HEERASF - TR URE
=k~ T
—hi= T
=k~ T
KT FEP
KA AT
AR EK
KA AT
TR EK
I Zhf= )T
RILEN - PR
M BB
R R
R R
HR B
KA AT

7hL
147
3L
3L
147
2L
3L

7hL
7hE
6 L
54
147
2L
2L
4L
6 fir

s
5
447
34
3




